JTSSE SAMPLE QUESTION PAPER &ANSWERS, CLASS-VIII

GROUP A
SCHOLASTIC APTITUDE TEST : t*if3 efqerel srerw
Total Marks : 50 S[b?l‘i? 8 @o
Each question carries One Mark : 2if$t5! 241 31t > 799

@@« (Science)

1. o (AR e v 723
Which of the following is not a weedicide?
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| a. 2ll3% (=5 (Glyphosate)

| b. #I9IFIG (Paraquat)

I c. g7II9 F=RCFD (Super Phosphate)
: d. 351z5°9 (Butachlor)

|2 OoR (PARE NS O Ce #/fadel e 2
| Which of the following converts milk into curd?
| a. @ZG 9% (Chlamydomonas)
| b. ©IG¥ (Diatom)

| c. o1 (Penicillin)

: d. (578'@&fbeT= (Lactobacillus)
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3. i waieRik ge—
The lustrous non metal is—
a. &’ (Bromine) b. &4 (Chlorine)
c. SIFfee (Iodine) d. 2T (Sulphur)
4. forAREe 4P SR s 2a—

The amount of Carbon present in Lignite is —
a.35% — 45% b. 25% — 35%
c. 86% — 97% d. 45% — 86%

5. OO (FARY TR 2[1 Sesifre A w2y 2
Which of the following is not a product of coal?

a. GG (Bitumen) b. &% (Coke)




c. &G (Coal-tar)  d. ¥ (9% (Coal gas)
6. e 4P PR T [ 2 —

The hydrocarbon present in LPG is —

a. faltas (Methane) b. 272 (Ethane)

c. Ut (Propane) d. R (Butane)
7. oo (! RyeResr—

Which one of the following is an electrolyte?
a. (5% (Sugar)
b. %% (Glucose)
c. g *I (Pure water)
d. 2fSANF'9M2T (Sodium Chloride)
8. OO (PR I G2

Which one of the following is multicellular?
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I a. @3 (Bacteria)
: b. (o<1 (Fungi)
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c. @f3@ (Amoeba)
d. (RIS (Paramacium)
9. TRRITTH RMTA—
The Emergence hormone is —
a. 9%’& (Androgen)
b. @%’ts (Estrogen)
c. afGE (Adrenaline)
d. e’tsC¥ (Progesterone)
10. 9= WE, *H(0® R T —
The S.I. unit of force is —
a. {85 (Newton) b. g1 (Joule)
c. o™ (Meter) d. S5 (Volt)
1.  3RE bl gi&cs e 1 TgR[e—

The instrument used to measure Atomospheric pressure —

a. 7i2e W6 (Hygrometer)



b. 2= 6™ (Glucometer)
c. (WG (Manometer)
d. APRBR (Thermometer)

T 51 TV 2 (PSS 105! (5 )¢l 73, (STT IGBIF TS

q’q_

If an object makes 10 oscillations in 2 seconds, then the frequency

of the object will be

a. 10 26% (10 Hertz) b. 526% (5 Hertz)

c. 20 7i5% (20 Hertz) d. 125% (1 Hertz)
GRS 2T G IR B (ReARY T e —

The Scale used to measure the magnitude of Earthquake is—
a. fNBIF (%41 (Meter Scale)

b. RE%G (%1 (Baufort Scale)

c. 9<B" (=41 (Richter Scale)

d. @bre 727 (None of these)

T (I YD1 2R T (19T (T T 2

Which two planets are called 'Ice Planet'?

a. iQ_“Vﬁ% (1% = (Jupiter and Saturn)

b. ¥ =% 34 (Saturn and Marcury)

¢. 38R BN (79151 (Urenus and Neptune)

d. ‘»jﬁl% T[is 94 (Earth and Mercury)

'Y OEIR (FICH! 22T b1 Goleg ?

Of which one of the following planets Phobos is a satellite?
a. 34 (Mercury) b. 321 (Jupiter)

c. e (Mars) d. *If (Saturn)

e 0 e SRBIh Te—

The immediate next step of the fertilization is—
a. = (Embryo) b. f61= (Foetus)

c. TiZaG (Zygote) d. ¥4 (Baby)

*[1 w9919 2lf oG JIHTH 7o —




The reciprocal term of the frequency of sound wave is

a. (39 (Velocity)

b. @& (Amplitude)

c. S3Rs! O7f (Wavelength)
d. #I¥=IeT (Time period)

2T (M2 (I (PRETT AT & ST A 2
How many pairs of chromosome are found in nuclei of human

cells?

a. 22 (1§ (22 pairs) b. 23 @ (23 pairs)
c. 24 (T (24 pairs) d. 25 (T (25 pairs)
TR (FICH! IR 2w 2

Which of the following is not a plastid?
a.3'2% (Chloroplast)

b. @'S'¢l1¥ (Chromoplast)

c. #18%21% (Leucoplast)

d. 323’s (Ribosome)

BIAe—

Pressure is —

a. 61 x (FqFe] (Force x Surfae area)

b. qe1 + (F@Fe] (Force + area)

c. (FqFe] + I (Area + Force)

d. @bre w27 (None of these)

23 Besivae T (R (e[ 25—

The element used in production of Thyroxine is—
a. Na b. Mg c. | d.B

TIFed AT FIFS TSR T A—
The first reserve forest of India 1s—
a. Y« (Manas)

b. 3W<< (Sundarban)
c. A%<l (Satpura)




d. @be 727 (None of these)
AT TR CI T A—

Mass of electron is —

a.9.1x107" .l (Kg)

b. 9.1x107! &N (Gram)

c. 1.9x10° &r.all. (Kg)

d. 1.9x10° .4l (Kg)
(RS L o —

The chemical formula of Benzene
a. CH, b. C,H, c. CH, d. CH

3776

GoTe (IR AI9<sl 723 ?
Which one of the following is not metalloid?
a. Si b. As c. Ge d. O

sife (Mathematics)

ST (PICH! ) TR ?
Which of the following is not true?
2 5 5 2 2 5 5 2
a. —+t—=—+— b. ———==———
3 4 4 3 3 4 43
2 5 5 2 2 5 2 4
C. —X—=—X— ——=—X—
3 4 43 3 4 35
o< FIfITOIR 2foes 29—
The reciprocal of the following is—
=3 (-7
_X —
8 13
44 2
Y 2 %104 104
frsfefie syRiNg e ga—



The range of the following data is —
9,8,4,3,2,1,6,4,8,10,12,15,4,3

a. 15 b. 14 c. 12 d. 10
O (! Bl 5jefqof 727 2

Which of the following is not a percect square?
a. 361 b. 1156 c. 1128 d. 1681

It /5625 =75, /0.5625 ++/56.25 INAET—

Given that /5625 = 75, the value of \/0.5625 ++/56.25 is —
a. 82.5 b.0.75 c. 8.25 d.75.05

239 o1 OF<F ZlelS DF 0] ?Z’a—

The one's digit of the cube of 23 is —

a. 3 b. 6 c.7 d. 9

W m, n S T 2, (O0F n 7 I—

If m is the cube root of , then n is —

a. m b Jm % d Ym

T 8x — 3 =25+ 17x (SCBx TI—

If 8& —3 =25+ 17x, thenx is

a. @bl ©20IgH (a fraction)

b. @B $¥'& 27| (an integer)

c. @b #IfRCT 7147 (a rational number)

d. @G! S19{fSTaR 12470 (an irrational number)

79 fo 5 @i witess @iawe 357 2w SR 7 widews! [

g

The sum of three consecutive multiples of 7 is 357. Find the smallest
multiple.

a. 112 b. 126 c. 119 d. 116

T GBI G9ea 3¢ TUIF #7711 eI T f&e 27, (S eeain! |
- |

Ifthe diagonals of a quadrilateral bisect each other at right angles, :



it will be a —
a. 996 (thombus) b. (GiIfe=N (trapezium)
c. SITerg (rectangle)  d. BTl (kite)

f5a® BEST @5 9916 TC51 y —x I W 29—

In the figure BEST is a thombus, then the value of y — x is—
T S

' '
Y,
AA
B E
a. 50° b. 40° c. 20° d. 10°
woTe s fawifas pformrzs @GR M a1 2
Which of the following 3D shapes does not have a vertex?
a. PRIRG (Pyramid) b. el (Prism)
c. *I%$ (Cone) d. ¢olle7<¢ (Sphere)

el (P! 24abe T A7 2
Which is the like term as 24a2bc?
a. 13 x8ax2bxcxa
b.8x3xaxbhxc
c.3x8xaxbxcexc
d3x8xaxbxbxc

OETq (PICH! «OI fasiw qifs 2

Which of the following is a binomial?
a.7xa+ta b. 6a> +7b + 2c
c. 4a x3b x2c¢ d. 6 (a®>+ b)

& (0! GBI BIren ?

Which of the following is an identity?
a(ptqP=p+q

b.p ¢ =@p-q)

c.p-q¢=p +2pq-¢q
d(p+tq@=p +2pq+q




Ifthe cost price of 10 shirts is equal to the selling price of 8 shirts,
then which of the following is true for the transaction?

a. 25% =1 (profit of 25%)
b. 25% (T (loss of 25%)
c. 20% =T (profit of 20%)
d. 20% CTIFBI (loss of 20%)

951 60 5.5, IR0 @2 i8I 40 fuifoe @< Wit yag wifee s |

IE | GFRE 7ag Sfods FETe 30 FHTe #90l AeIdmT ofe@el :

TI— |
A car covers a distance in 40 minutes with an average speed of 60 |
km per hour. The average speed to cover the same distance in 30 |
minutes is —

a. 80 .130./251 (80 km/h)

_____________________ -
17abc, 34ab?, 51a2b I AQE TATE To— |
Common factor of 17abc, 34ab?, 51a*b is— |
a. 17abc  b. 17ab c. 17ac d. 17a?h%c |
3)° |

O (P! I_ZI AT ? :
3\ I

Which of the following is equal to (—Zj ? I
I

D ) N ) |
a. 4 13 C. 3 . 3 :
234000000 < Aol 0B 2'sT— |
The standard form of 234000000 is — |
a.2.34 x 10%b. 0.234 x 10° |
c. 234 x 10 d.0.234 x 10°° |
T 1051 5153 RewIst 851 5I5a (B IMIH AR 27, (o0 (1 oo elfgzncore |
OO (P WF R 2 :
I

I

I

I

I

I




b. 4—25 ﬁsﬁ.m«m“—; knvh)

c. 70 .50/t (70 km/h)
d. 45 .50./2%1 (45 km/h)

46. OF (P! SRS x S y A 70 el [bae 2

In which of the following case the quantities vary directly with

each other?

x|05]2 |8 |32
a1 y|2 |8 [32]128
x| 17223 | 4
b'y13233343
x|[2 |5 10]25
“lyl2s|lio] 512
x|21411 619
diyTislo 6|4

47. oo@ oacbie ADE fagem ifer #ifastiel e 292
What is the area of the triangle ADE in the following figure?

a. 45 ¢2f? (cm?)

A

B

E

D<—8 &I (cm)—> ¢
b. 50 (&2 (cm?)

8Tc§f§l. (cm)
l



c. 55 (&2 (cm?) d. 40 (&2 (cm?)
48. I G5! TR] ATRRT (G 10 @ AR T (O0F TIFC61E TTe
SRCGR fFiE—

What will be the change in the volume of a cube when its side
becomes 10 times the original side?

a. 761 1000 @4 29 (Volume becomes 1000 times)
b. & 100 @9 2’9 (Volume becomes 100 times)
c. g6 10 @9 29 (Volume becomes 10 times)

1
—
d. g7eT 1000 92’9 (Volume becomes 1000

49. x-SFFF ST 2 AfSTh! YT BIS 29—
Co-ordinate of every point on the x-axis is of the form—
a. (0,y) b. (x, 0) c. (x,») d.(x, 1)

50.  fOfD! o2 51221l xyz T FRE FACH 2 oT—

I
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I

I
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I
I
I
: Generalised form of a three-digit number xyz is —
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

a.(x ty+z) b. 100x + 10y + z
c. 100z + 10y + x d. 100y + 10x + z

GROUP -B

MENTAL ABILITY TEST : Si<ifoi siwief wreist
Total Marks : 50, 35 794 ¢ G©
Each question carries one mark & 2if$t6! 24K I1C3 > 799

Direction : In each of the questions 51-55, a series is given with one
term missing. Choose the correct alternative given below that will
complete the series.

TR e o1 5155 7R 2isfe «BiTas (T} it i1 | e Beaaied #1d1 AT o2
AT B 917 e IR w10 TS T F5)e( =z |

51.S5,1,Q,p,—

(a) P ®O (9)q (d) o
(e) None of these Y3 GG 923 |

52. EO, DN, CM, —

(a) AK (b) BK (c) AL




(d) BL (e) None of these Y37 «bIS 72T |
53. MQU, NRY, OSW, —
(a) PTW (b) PTX (c) PSW

I
I
I
(d) OSX (e) None of these Y3/ UGS 72T | |
54.17,31,45,59,— I
(@73 ()72 (7 (d)70 I

(¢) None of these G3(ART G1S 77 | :
I

I

I

I

I

55.3,2,6,4,9,6,—
(a) 1 (b) 12 (c) 13
(d) 14 (e) None of these W3R G827 |

I

I

I

I

I

I

I

I

I

I

: Direction : In questions 56—60, there are four terms in each question.

| The relationship that exists between the first two also exists between

| the last two. But one term is missing. The missing term is one of the

| five alternatives given below each question. Find out the correct al- |
| ternative. |
| Tomt ¢ 56-60 7% 2PsoTyes 2ifothia BIFRGITS 2 STz | 810 2= 7519 Aer® |
| BTG (<IF AR Wierce! A | g @B oM @ (R R | 5% SIeH! |
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

o7 o5l Rewsm 71 el sfRa s |
56.196:14::169:?
(a) 11 (b) 12 (c) 13 (d) 14 (e) None of these ©ZT(ART
«ore 7 |
57.eFG:EfG::pQR :?
(a) pQR (b) PQr (c) PqR
(d) pQr (e) None of these Y3ART GG 723 |
58. BCD:24::EFG:?
(a) 204  (b)210 (c)212 (d) 224 (e) None of these

GBCAIRE D16 7R |
59.Y:25::P: ?

(a) 15 (b) 16 (c) 17

(d) 18 (e) None of these
60.JT:200::EO:?

(a) 75 (b) 100 (c) 150

(d)200 (e) None of these (42T G5I€ 7)) |



| Direction : In questions 61-65, each has five terms. Four terms are |
| alike in some way while one term is different from others. Find the |
| odd one out. |

| FesieT 2 61—657% 241 2fSTHITS #IT55! 7 SNtz | 3 BIfFG! [l Fivere @i |
| arom, sig <t fom 21 Rempet | Rerpeco1 Aifg Sfereat |

then how would MAGEN be coded?

g Ftwoe KHAGEN < 614 23 541326 @<t HEMEN < foiell 230
42726 f&pitst | cofext MAGEN < &6 Jfe1 forxi 29 2

(a) 71236 (b) 71362 (c) 73126

(d) 71326 (e) None of these (AT GBI€ 72T |

68. If AZ = 26 and BY =50 then JT = ?
WM AZ =26, BY =50 TSI JT =2

I
| 61. (a) 91 (b) 92 (c) 93 I
| () 94 (e) 95 I
: 62. (a) Shillong  (b) Silchar (c) Dispur :
I (d) Itanagar (e) Imphal I
| @ [CEN (b) e (c) iz |
| @R (o) T |
| 63.(a) G (b) H ©1 |
| @]J (e) K |
| 64. (a) 2017 (b) 2018 (c)2019 |
| (d) 2020 (e) 2021 |
| 65. (a) Screw (b) Hammer (¢) Needle |
| (d) Pin (e) Nail |
I @% (b) ZgR (c) & |
I (@) pm (e) el |
I 66. In a certain code, DHUBRI is written as GKXEUK. How is JORHAT I
| written in that code? I
: «fy FtFee DHUBRI 3 fo14l 28 GKXEUK 25109 (718 Aiew :
I JORHAT < &5 Jfet forali 2°4 2 I
| (2) MRVKDW (b) MSUKDW (c) MRUKDW I
| (d) MRUKDX (e) None of these G3(IRT @518 7= | |
| 67. If KHAGEN is coded as 541326 and HEMEN is coded as 42726 |
I I
I I
I I
I I
I I
I I
I I
I I



(a) 198 (b) 200 (c) 204 |
(d) 205 (e) None of these UZ(ART GGG 7T | |
Direction : Given below are three positions of the same cube having |
numbers from 1 to 6. Observe them and answer the questions from |
69 to 71. I
O ¢ @oT® 51 T FofiGl Srrgin el =iiee | 19 =41 67 759 2451 <3 |
oI SREIAR 2/ 91 O 69 F 2191 7175 24t Tes |

25 46 63
4 2 2

@ (i) (iii)
69. Which number occurs on the face opposite of face 4?

|

|

|

|

|

|

4 <1 foifas fReidTe foifore 5 sicat o 2 :
@l 2 @©3 (@5 ()6 |
|

|

|

|

|

|

|

I

I

I

I

I

I

I

I

I

I

I

I

I

I

: 70. What is the number on the bottom of cube no. (iii)?
| (iii) 7 T feT® 2B FRATCH! 5 2

| @l ®2 (©3 (d) 5

| (d) cannot be determined (7 ¥ =IF |

| 71. Which number is on the face opposite to 3 ?

I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

3 21 f4ifq Rioidte fifos & o1k sz 2
(a) 1 ®2 (04 (d) 5
(¢) cannot be determined {7 ¥ IR |
Direction : Dipsikha is walking in a field. She first goes 12m towards |
north. Then turning to the right, she walks 7m and turns right. Walking |
12m she again turns right and walks 4m and stops. Now answer Q |
No 72, 73 and 74. |
Toestan 2 TR @< (41 12 (e D oI | 420 ©12 T8t 12m A |
S GIRFICE IR 7mal ST GTRICe 909 | G231 12m 01 ST GIReIeeT |
[ 4m I | GfSA 72, 73 S 74 7R 2PTIRS T WA | |
72. How far is Dipsikha now from her starting point? [
SRS e~ TR i o e g 2 I
(a) Im (b) 2m (c) 3m |
(d) 4m (e) None of these U2 IHIS T | |
73. How much total distance has she covered in her journey? :



OIF IRAHTS JITS Rl 7ag Sfoams e 2

(a) 25m (b) 35m (c) 37m

(d)28m (e) None of these G3(ART G1S 77 |
74. To which direction has she travelled last?

(a) North (b) South (c) East

(d) West (e) None of these

OIF TAAIT (S (P 0 BNifee 2

(a) T&q (b) W (c) 711

I

I

I

| 74

I

I

I

I

| (d) o (e) WB(AIRT IBI8 72T |

: 75. Which one of the following five words comes first in the dictionary?

I ST AIG! %  fOOTT (FIFCH! *1 TSI LU (AR A2

| (2) EUNUCH (b) ETIQUETTE (c) EUGENICS

I (d) EULOGIST (e) ETYMOLOGY

| 76. Which one of the following five words comes first in the dictionary?

| SeoIBD! %< fOO (FINC! %% SfOUINS 2L (A1 2

| (a) SUPPORT (b) SUPERVISE (c) SUPERVENE

| (d) SUPPLEMENT (e) SUPPORTER

| 77. Which one of the following five words comes last in the dictionary?

| ooroipb! *ws fooss (Gl = LT (1 ol T2

I (a) OBLIGE (b) OBLIGATION (c) OBJECTIVE

| (d) OBJECTION (¢) OBLIQUE

| Direction : In questions 78—80, numbers are placed in the figure on the

I basis of some rules. One place is vacant and indicated as a question

: (?) mark. Find out the correct alternative to replace the question
mark.

| st 2 78-80m erer 2Bt g e evtrs fefe o gy e

: e t1ce Mol 020 | ©ItE G5! B AT S0 SN OIS @b 2RI ©F

I (?)=NCR | eHCaless foors (% afeq [Resr Tearaias #1«1 fga 3 |

I

I

I

I

I

I

4 3 4 2 2 2
n =
3 2 5 3 6 3

(a) 20 (b) 21 (c) 22 (d) 23



(¢) None of these U3 b€ 7z
20 21 19
» /A
6 5 7 4 7 3
(a) 16 (b) 25 () 64 (d) 81

(¢) None of these G3(ART GIS 77 |

5 6 5
2 2 3
O OO
2 2 2

(a) 169 (b) 196 (c) 215 (d) 289
(e) None of these G3ARE OIS 7= |
81.Ais B's son. X 1s Y's wife. Y is A's son. What is X to B?

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

I

|  ABI=@ IX, Y32 Y, AS99!| X, BIFzn?
: (a) Mother (b) Daughter  (c) Sister
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I

(d) Granddaughter-in-law (e) None of these
(a) W (b) ERA! (c) &1

(d) TS-@RST (e) G3R@TT GBI 7= |
82. R is Q's husband. P and S are brothers. A is Q's daughter. P is Q's
father. How is A related to S?

R, QIS IPIE SRR |- A Q3 G IP,QIforet 1A, ST &
277
(a) Grand daughter (b) Mother (c) Sister
(d) Grand mother  (e) None of these
(a) TS (b) =t (c) oI
(d) =ize () “2ART GbIe 72T

Direction : In each of the following questions (83—85) has a group of I
three words which are related to each other in some way. This
relationship can be represented by one of the following figures (a),

(b), (¢), (d) or (e). :
I



| ot 5 oo (83-85) @ifelhl &‘ﬁt—wwuww«ﬂmﬁi%mﬁtﬁﬁﬁ|
Sers 541 7927 fF11 T9F =Tz | (a), (b), (¢), (d) D= (e) oaTzs e |
CBITF G TG vy i AT |

ISR

(c) [ ] (d) /\A/\

(e)

Now indicate your answer by darkening the correct alternative on
your answer sheet.
@S (O CeT-7Iq @ [RIsCo! e 3% w3l |
83. India, Bihar, Srilanka
e, K2, Al
4. Carrot, Fish, Vegetables

|
|
[
[
|
aIver, 1z, 2A5(e I
|
|
[
[
|
|

0

o0

5. Women, Doctors, Teachers
S RETEe, G, M q Pt

Direction : In questions 86-90 there are three problem figures fol-
lowed by a question mark (?) for the fourth one. There exists some
relationship between the first two problem figures.A similar rela-
tionship should exist between the third and the fourth problem fig-
ures. Find the one from the answer figures that correctly replaces |
the question mark. |

fAor=at 8 86 7 #f11 90 7% 2PTYES ffibice TPyl fod I boBre bl eMEIs |
5% (2) =Tz | =2 15! oI 7 «@e™ 7% =z TOR i vhre &8 |
T 410 TS A | Ted BTz 71t vl Bacs! fefr 3@ st |

86. Problem figures: 3=p11 foa




Answer figures: Seqfba

o

%

(a) (b) (c) (d) (e)

87. Problem figures: =11 foq
| J+ +

|+ +| 7

Answer figures: Te1fba
++ +|+ |+ + [+ 4
+ o+ |+ + + +
(a) (b) (c) (d) (e)

88. Problem figures: 3=p1i foa

X | <> DA 2
Answer figures: ¥ foq
SO0 |Dbd| K
(a) (b) (c) (d) (e)

89. Problem figures: 3=p1i foa

Y

Y

Answer figures: Seqfoa



(a) ® (9 (d) (e)
90. Problem figures: 571 foq

[
[
[
[
|
ST Wil Q2 i
[
[
[
[
[
[

Answer figures: Seqfba

DD @ |DNS®

I

I

I

I

I

I

I

I

I

I

I

I

I

: (a) ® © @ (

| Direction : In question 91-95 on the left side four problem figures are |
| given and a question mark (?) is put for the fifth. The problem fig- |
| ures have some relations in their sequence. Pick the correct an- |
| swer figure which can replace the question mark. |
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92. Problem figures: 51 foq




Answer figures: Seqfba
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94. Problem figures: 311 fo@
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Answer figures: ¥ foq
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95. Problem figures: 311 fo@
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Answer figures: ¥ foa
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(a)

Direction : In question 96 to 100 given below there are five figures in
each question. Four figures are alike in some way while one figure

b (© (d)

(e)

is different from others. Find the odd figure out.
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GROUP - C

Each question carries one mark :

GENERAL KNOWLEDGE & CURRENT AFFAIRS :
AL Wi S AES qo2AR
Total Marks : 40 5 =154 ¢ 80

2AfSTo! 2T T > 9]

a. 9% 5 T (F. T. Wood)
b. AT (5135 (Edward Gait)
¢. 5T 397 (Lord Ripon)

101. SiReE (=17 Jiow ©Rpw s_Ic! wifgs—
The last British Viceroy of India was—

d. 57 TBGECH (Lord Mountbeteen.)

India becomes a Republic on—

a. 316 N4 (Rabish Kumar)
b. @% NI (S. Somanath)
c. *[oP7 9 (Satish Dhawan)
d. @< R99re (N. Rangarajan)

104.  S[eTHTIS Yo e BT (2fRe

105. ©RET (ETIFTOI TS S (e 2

a. Rl 99 (Miera Kumar)

102. Sledy sares fZ2pieel Ao (@ =) tare—

a. ¢ 2%, $584 (15th August 1947)

b. 25 SIS, S99 (29th January 1931)
C. VY W@, 3o (26th January 1950)
d. 9o TR, S58v (30th January 1948)

103. SO TR SIREN AR T ST (3] 2
Who is the Present Chairman of I.S.R.O?

In which year Battle of Plassey was fought?
a. >4Y8 59 (1764 AD) b. Sv»v8 b9 (1864 A D)
C. >4€a b9 (1757AD) d. sreadv9 (1857 AD)

Who is the Present Speaker of Lok Sabha?



b. @ K=&l (Om Biral)

c. oNifrey &=l (Aditya Birla)
d. Feiel 1k (Rajnath Singh)
OO (! 2T ST AR 2

Which of the following animals does not lay eggs?
a. #[19 5413 (Pigeon) b. (51?23 (Penguin)
c. A=l (Bat) d. ©5 5912 (Ostrich)
(RGN (/< JTerffet] 2 51—

What is the Capital of Belgium?

a. b1 (Brussels)

b. [GEGre (Bridgetown)

c. JifRfeT (Brasilia)

d. fR%9’5 «f¥z (Buenos Aires)

I TEAIEs s Fffes ©

Who invented the 'Dynamite'?

a. TIPS « (34 (Alfred Nobel)

b. S 85 (Issac Newton)

c. GG SNEBiE (Albert Einstein)

d. 2. 91t==1 (B. Russell)

NG TS B AT 2Tl t2re—

The National Aquatic Animal is-

a. X9 (Crocodile) b. (&1l (Frog)
¢. Te1ie (Dolphin) d. ¥= (Turtte)

T O OB G ZF—

The S I unit of force is-

a. g4 (Joule) b. =1sf (Arg)

c. ©igd (Dyne) d. T80 (Newton)

& SN FZAN ARG I SHIF 01 (A1) s T —

A. R. Rehman was awarded with the Oscar for music in the film- |

a. 3 (7 IS (Rang De Basanti)



b. ©leT (Taal)
c. %1% w9l fSeTa1 (Slum dog Millonaire)
d. = W2 9"z (Oh My God)

TR (PRI T TN (T 7 WG i FRIz s ez 2
Which of the following person is currently performing as a Central

Minister?

a. ©° 2% fl *3f (Dr. Himanta Biswa Sarma)
b. S RIS (Sarbananda Sonowal)

c. #Ifd@ B! (Prabitra Margerita)

d. =ifére T g«@el (Ajit Kumar Bhuyan)

A b1 GfARCA A9RIE 1 TECO! (R0R—

The instrument used for measuring atmospheric Pressure is-

a. (FF'GF (Barometer) b. 232 6K (Hygrometer)

c. M9 (Rader) d. 23g G (Hydrometer)

NEFAR 577}¢f F9/(51 51—
NEFA stands for-

a. North Eastern Frontier Area
b. North East Frentier Agency

c. North Eastern Front of Assam
d. North Eastern Foriegn Area

% SIBIZOT ©leq FHBIF I 5 2
Which is the largest flower in the world?

a. AR (Rafflesia) b. =ifeil (Sapria)

c. 38(&[170% (Eucalyptus)  d. (S (Jasmine)
S| SIfet7( (31T oS 2'a—

The next Olympic Games will be held in —

a. 25 (Italy) b. 3057 (England)

c. ¥ (France) d. e gealg (U.S.A)

TSI OlTed es@ F] (2rz—
The present Finance Minister of India is-

a. el W (Anurag Thakur)



119.

120.

121.

122.

b. fsfeTl SO (Nirmala Sitharaman)
c. Yo 23 (Smriti Irani)

d. IS} @S (Mamata Benarjee)
& 1 6 e 3R (2re—

The present Head of the B T R is-

a. oW & (Chandan Brahma)

b. AV JCel (Pramod Boro)

C. O(3 90! (Taren Boro)

d. et wf2e7ST (Hagrama Mobhilary)

G T2AIE ©o™ (FACG! TO 79 Givw ?
Birju Maharaj is an exponent of which dance form?

a. 9’ fefy (Odissi) b. < (Kathak)
c. G (Satriya) d. FUfT (Kathakali)
OO (IR | G S| 72T 2

Which one of the following rivers is not a tributary of Brahmaputra?
a. G (Jiyadhal) b. e (Dikhow)

c. (TReffS (Subansiri)  d. =112 (Aai)

2039 3 (FI AT 7 (77 61 7€ F0Z?

Who wins Nobel prize in literature in 20237

a. FIoIfe SIS (Katalin Kariko)

b. & {35+ (John Milton)

c. <Nifsfz Tz=97] (Narges Mohammadi)

d. @i« (2 (John Fosse)

TR TR (1R SRS (305! (T/4IF 517 oS FIRCR 2

How many Gold Medal was obtained by India in Hangzhou Asian
Games?

a. obl (38) b. 20051 (200)
c. 01 (28) d. @3BI(51)
I SNTG OoTq (FIeee HZIS SCZ 2
Miracle Garden is situated in-




a. 1% (London) b. B3i2 (Dubai)

c. (#If"Z (Paris) d. TR (Moscow)
124, (I 5T ZERIZET (12T & 23 2

In which year Israel formed?

a. 5584 5 (1947 A.D)

b. S58v B9 (1948 A.D)

c. 350 5% (1950 A.D)

d. S¥8 B9 (1848 A.D)
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I 125. ‘TR o[ 2o HiRfersr <61 1 evie 341 (2R ?

| Who is awarded as 'Father of Indian Turism'?

| a. *I9 BICHI (Sarat Saxena)

| b. (N1Z= 18 1797 (Mohan Singh Oberoy)

I c. ¥NCT (29l (Kamalesh Mehta)

: d. & 9% 8= (G. S. Dhilon)

| 126. fm2foapm el ageng av i 2

| Who is the writer of the book 'Glimpses of World History'?
| a. (2% 3541 (Hem Barua)

I b. S92 (2©! (Jagamohan Mehta)

I C. GARRIA (12F (Jawaharlal Nehru)

: d. 2% 93 (Prasanta Bhusan)
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127. 97 T el 2o —

The height of the Qutub Minar is-

a.9%2.¢ WBR (72.5m)  b.2€.a3f6F (75.72 m)

c. ab.¢ B (78.5m)  d. a0.¢ f56R (70.5 m)
128, “fl rgy Mot CvEl=ie 541 SIfR<Th! 2 o —

The date on which "World Health Day' observed is-

a. a4 |2 (7 April) b. 35 @f2 (11 April)

c. > fS5%a (1 December) d. 28 SICFRF (24 October)
129. ‘(@RI @TANICH! (R (=17 ?

'Samsung' is belonged to-



a. 5™ (China) b. S (Japan)
c. vt (IR (South Korea)
d. ™ (France)
130. WZeiRes T (I Te ifee 2
'Karna' of Mahabharata was belonged to-
a. WP 991 (Slave dynasty)  b. >© (Suta caste)
c. =9 (Brahman) d. ¥ (Kumar)
131, AREAITS A1 T foI%e )@ ! {3 CIE Selee 2

What name does the Brahmaputra river take as it enters

Bangladesh?
a. 919l (Ganga) b. T (Jamuna)
c. 7l (Padma) d. (91 (Meghna)
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| 132, <Swm ores T2 o2 SIge” (i 2
I Who is the present 'Chief Information Commissioner' of India?
I a. *If&% W™ (Sakti Kanta Das)
I b. Z1aE SR (Heeralal Samariya)
| c. {§temi 1 (Brijesh Singh)
| d. A= FF (Rajeev Kumar)
1133, < sifera fore ora wifee—
| Poet 'Glalib' wrote in the language-
: a. %! (Bengali) b. 2T (Hindi)
| ¢. ©F (Urdu)d. sl (Punjabi)
| 134. @&ifoR oNeT! QERF Oo1 (FHRY G 0K 79 GO ?
I Alvis Ali Hazarika is associated with which Game?
I a. [& =G (Cricket) b. ATOF (Swimming)
: c. (GG (Badminton) d. (119 (Race)
135. *QZR063 I& (P b1 (2T ?
I In which year the 'Battle of Saraighat' was fought?
| a. Svay 59 (1671 A.D)
: b. 243 579 (1771 A.D)




c. 3218 b (1764 A.D)
d. sv43 59 (1871 A.D)

136. TSN IEHISIS AEHINS 777 (20—

d. f9[9 3@ (Ripun Bora)
137, (oH1Z b2 sfafd a5

b. sT11%q 741 (Liladhar Barua)
c. 159 572! (Kuladhar Chaliha)

The present nominated M.P. of Rajya Sabha is-
a. w134 9{tal (Akhil Gogoi) b. 9& %125 (Ranjan Gogoi)
c. SIfers T 9l (Ajit Kumar Bhuyan)

The old name of the city of Chennai was-

a. 9% (Bombay) b. W7R1E (Madurai)

c. Y@l (Madras) d. ¥Y%/8 (Madhupuram)
138, 7S TGS O] &1Re 51 ST I 2 —

The Assamese who participated in the famous Dandi March is-
a. <191 5% F9%¢eT (Nabin Chandra Bordoloi)

d. SIS 9 W (Amiya Kumar Das)

a. (A%G F3 (Bendit Queen)

b. frafe1 8 (Piyoli Phukan)
c. 999 (Ratnakar)

d. ©” (9@l (Dr. Bezbarua)

140. PS.L.VISLZdq—
P.S.L.V stands for-
a. Polar Sattelite Launch Vehicle
b. Popular Sattelite Launch Vericle
c. Polish Sattelite Launch Venture
d. Polar Solar Launch Vehicle

139. 371 fRRIToT ot (R GeTfbb e Sifemsl Sfafee 2
Seema Biswas acted in which of the following film?



GROUP D
ENGLISH GRAMMAR : 353Gt qjiael
Total Marks : 10 S{?SW i)
Each question carries One Mark : 2fSto! 241 373 > 799

Fill in the blanks by choosing the correct determiner from
the options given.

141. Ireached the place in hour.
a. a b. an c. the d. few

142. Can I borrow book you bought yesterday?
a. a b. an c. the d. some

Fill in the blanks with the appropriate prepositions from
the choices given.

143. I poured some milk —— the glass.

a.on b. into c. at d. by
Butter is made milk.

a.in b. of c. from d. by

Fill in the blanks with appropriate forms of the tense of the
verbs given under each sentence.

145. 1 to Jorhat recently.
a.willgo b. went c. had been going d. will be gone

146. When I met your father, he a newspaper in the verandah.
a. was reading b. is reading
c. has been reading d. had been reading

Complete the negative sentences with the appropriate verbs
from the choices given.

147. The river is full of current. We swim in the river.
a. does not b. do not c. have not d. had not

148. They in this house any more.

a. does not live b. are not live

c. donot live d. do not living

—_
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=



Choose the appropriate voice (active or passive) of the |
following sentences from the options given.

149. The door was opened by Rimi.
a. Rimi is opening the door.
b. Rimi was opening the door.
c¢. Rimi opened the door.
d. Rimi has opened the door.

150. Iam writing a letter.
a. A letter is written by me.
b. A letter is being written by me.
c. A letter was being written by me.
d. A letter has been written by me.
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